

§ 4.2

$$\begin{aligned} 5 \quad (a) \quad A = R_{-\frac{\pi}{4}} &= \begin{pmatrix} \cos(-\frac{\pi}{4}) & -\sin(-\frac{\pi}{4}) \\ \sin(-\frac{\pi}{4}) & \cos(-\frac{\pi}{4}) \end{pmatrix} \\ &= \begin{pmatrix} \frac{\sqrt{2}}{2} & \frac{\sqrt{2}}{2} \\ -\frac{\sqrt{2}}{2} & \frac{\sqrt{2}}{2} \end{pmatrix} \end{aligned}$$

$$\begin{aligned} (b) \quad A = R_{\frac{\pi}{2}} R_x &= \begin{pmatrix} \cos(\frac{\pi}{2}) & -\sin(\frac{\pi}{2}) \\ \sin(\frac{\pi}{2}) & \cos(\frac{\pi}{2}) \end{pmatrix} \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix} \\ &= \begin{pmatrix} 0 & -1 \\ 1 & 0 \end{pmatrix} \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix} = \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix} \end{aligned}$$

$$\begin{aligned} (c) \quad A = R_{\frac{\pi}{3}} \begin{pmatrix} 2 & 0 \\ 0 & 2 \end{pmatrix} &= \begin{pmatrix} \cos(\frac{\pi}{3}) & -\sin(\frac{\pi}{3}) \\ \sin(\frac{\pi}{3}) & \cos(\frac{\pi}{3}) \end{pmatrix} \begin{pmatrix} 2 & 0 \\ 0 & 2 \end{pmatrix} \\ &= \begin{pmatrix} \frac{\sqrt{3}}{2} & -\frac{1}{2} \\ \frac{1}{2} & \frac{\sqrt{3}}{2} \end{pmatrix} \begin{pmatrix} 2 & 0 \\ 0 & 2 \end{pmatrix} \\ &= \begin{pmatrix} \sqrt{3} & -1 \\ 1 & \sqrt{3} \end{pmatrix} \end{aligned}$$

$$(d) \quad A = \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix} R_0 = \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix} = \begin{pmatrix} 0 & 1 \\ 0 & 0 \end{pmatrix}$$

14 Sol. Let $C = \{x^2, x, 1\}$ $D = \{2, 1-x\}$

$$L(x^2) = (x^2)' + 0 = 2x = 1 \cdot 2 + (-2)(1-x)$$

$$\Rightarrow [L(x^2)]_D = \begin{pmatrix} 1 \\ -2 \end{pmatrix}$$

$$L(x) = x' + 0 = 1 = \frac{1}{2} \cdot 2 + 0 \cdot (1-x)$$

$$\Rightarrow [L(x)]_D = \begin{pmatrix} \frac{1}{2} \\ 0 \end{pmatrix}$$

$$L(1) = 1' + 1 = 1 = \frac{1}{2} \cdot 2 + 0(1-x)$$

$$\Rightarrow [L(1)]_D = \begin{pmatrix} \frac{1}{2} \\ 0 \end{pmatrix}$$

Under the bases C & D the linear transformation

$$L \text{ is given by } A = \begin{pmatrix} 1 & \frac{1}{2} & \frac{1}{2} \\ -2 & 0 & 0 \end{pmatrix}$$

$$(a) [L(x^2 + 2x - 3)]_D = A \begin{pmatrix} 1 \\ 2 \\ -3 \end{pmatrix} = \begin{pmatrix} \frac{1}{2} \\ -2 \end{pmatrix}$$

$$(b) [L(x^2 + 1)]_D = A \begin{pmatrix} 1 \\ 0 \\ 1 \end{pmatrix} = \begin{pmatrix} \frac{3}{2} \\ -2 \end{pmatrix}$$

$$(c) [L(3x)]_D = A \begin{pmatrix} 0 \\ 3 \\ 0 \end{pmatrix} = \begin{pmatrix} \frac{3}{2} \\ 0 \end{pmatrix}$$

$$(d) [L(4x^2 + 2x)]_D = A \begin{pmatrix} 4 \\ 2 \\ 0 \end{pmatrix} = \begin{pmatrix} 5 \\ -8 \end{pmatrix}$$

4.3

5 Sol: (a) Let $C = \{1, x, x^2\}$

$$L(1) = 0 \Rightarrow [L(1)]_C = \begin{pmatrix} 0 \\ 0 \\ 0 \end{pmatrix}$$

$$L(x) = x \cdot x' + x'' = x \Rightarrow [L(x)]_C = \begin{pmatrix} 0 \\ 1 \\ 0 \end{pmatrix}$$

$$L(x^2) = x \cdot (x^2)' + (x^2)'' = 2x^2 + 2 \Rightarrow [L(x^2)]_C = \begin{pmatrix} 2 \\ 0 \\ 2 \end{pmatrix}$$

$$\text{Thus } A = \begin{pmatrix} 0 & 0 & 2 \\ 0 & 1 & 0 \\ 0 & 0 & 2 \end{pmatrix}$$

(b) Let $D = \{1, x, 1+x^2\}$

$$[L(1)]_D = \begin{pmatrix} 0 \\ 0 \\ 0 \end{pmatrix} \quad [L(x)]_D = \begin{pmatrix} 0 \\ 1 \\ 0 \end{pmatrix}$$

$$L(1+x^2) = x \cdot (1+x^2)' + (1+x^2)'' = 2x^2 + 2 = 2(x^2+1)$$

$$\Rightarrow [L(1+x^2)]_D = \begin{pmatrix} 0 \\ 0 \\ 2 \end{pmatrix}$$

$$\text{Thus } B = \begin{pmatrix} 0 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 2 \end{pmatrix}$$

(c) Note $B = U_{CD}^T A U_{CD}$

$$\text{where } U_{CD} = \left([1]_C \ [x]_C \ [1+x^2]_C \right) = \begin{pmatrix} 1 & 0 & 1 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix}$$

$$\text{Thus we can take } S = U_{CD} = \begin{pmatrix} 1 & 0 & 1 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix}$$

$$(d) [L^n(p(x))]_D = B^n [p(x)]_D = \begin{pmatrix} 0 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 2^n \end{pmatrix} \begin{pmatrix} a_0 \\ a_1 \\ a_2 \end{pmatrix}$$
$$= \begin{pmatrix} 0 \\ a_1 \\ 2^n a_2 \end{pmatrix}$$

Thus $L^n(p(x)) = 0 \cdot 1 + a_1 \cdot x + 2^n a_2 \cdot (1+x^2)$

$$= 2^n a_2 x^2 + a_1 x + 2^n a_2$$

77